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Section Id : 233667368
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21

Section Marks : 25
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667441
Question Shuffling Allowed : No

Question Id : 23366711024 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question
Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage and answer questions based on the passage:
Moral education centres upon this conception of the school as a mode
of social life, that the best and the deepest moral training is precisely
that which one gets through having to enter into proper relations with
others in a unity of work and thought. The present educational
systems, so far as they destroy or neglect this unity, render 1t difficult
or impossible to get any genuine, regular moral training.

Sub questions

Question Number : 1 Question Id : 23366711025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to the writer, the school 1s a form of
Options :

.« individual existence
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, » religious life
. » spiritual life

., » social life

Question Number : 2 Question Id : 23366711026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Moral tramning, according to the passage, effects
Options :

. »aunty of work and thought

, . entering into proper relations with oneself
. » the skills of work

, « the skills of thought

Question Number : 3 Question Id : 23366711027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The writer’s attitude to the present education system can be described as
Options :

1. ¥ Critical

, « adulatory

, « defensive
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, « indifferent

Question Number : 4 Question Id : 23366711028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The central concern of the passage 1s
Options :

. . spiritual education / spiritual training

, « work education / work training
. » moral education / moral training

, « thought education / thought training

Question Number : 5 Question Id : 23366711029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the word from the passage that 1s a synonym of accurate
Options :

.« Conception
, « Neglect

, v Precise

, « Genuine

Sub-Section Number : 2
Sub-Section Id : 233667442
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Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 23366711030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Correct the underline word in the sentence below, by substituting with the correct word

[ pray for god to give me strength
Options :

., regarding
. v 1O
3 % Of

. « with

Question Number : 7 Question Id : 23366711031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I think he 1s honest man
Options :

) v dll

3_333

, « no article

Question Number : 8 Question Id : 23366711032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

https://g01.digialm.com/CAE/viewHtmIPDFAction.action

5/98



6/7/25, 12:33 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

This 1s car my friend bought last week
Options :

1. the

z&%an

3.8 d

, =0 article

Question Number : 9 Question Id : 23366711033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Indeed, I am not sure his success
Options :

1. ¢ Of

, «regarding

;. » about
4. % Off

Question Number : 10 Question Id : 23366711034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

They saw him fell his horse

Options :

.« after
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2. % ag&iﬂst
3 % Of

4. JOff

Question Number : 11 Question Id : 23366711035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The will meet again. to discuss the matter
Options :

= Comittee

, # Commitee
;v Commuittee

4. #* Comitee

Question Number : 12 Question Id : 23366711036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Cricket team are 1n a mood
Options :

1. ¢ buOyaﬂt

, » buoyent

. « boyant
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4, ® bllyant

Question Number : 13 Question Id : 23366711037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Had he studied hard, he passed

Options :
.« has

, » had been
; »would have

. » have been

Question Number : 14 Question Id : 23366711038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[ wish I her address

Options :

.« know

, » have known

, » may know

. v knew

Question Number : 15 Question Id : 23366711039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Incredulous means
Options :
.« obliterate

, » skeptical
.« practical

, « Insane

Question Number : 16 Question Id : 23366711040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Precipitous means

Options :
| » Very steep

.. very deep
. « presumption

, « ascent

Question Number : 17 Question Id : 23366711041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1s a synonym for mgenuous

Options :
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. % Clever
, » Ingenious
, v honest

., » Indecent

Question Number : 18 Question Id : 23366711042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Keenness 1s a synonym for
Options :

. » abjure

, «ENnigma

« skip

3.

4. v dCUITICT]

Question Number : 19 Question Id : 23366711043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Invincible 1s an antonym for
Options :

. ,conquerable

, » transparent
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, « f1asco

. = 1nstil

Question Number : 20 Question Id : 23366711044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into a simple sentence
He wanted to play with his friends and so he finished his home work quickly

Options :

.« As he wanted to play with his friends, he finished his homework quickly
, « S0 as to play with his friends, he finished his home work quickly
. « He wants to play with his friends and they he finished his home work quickly

, »In order to play with his friends, he finished his home work quickly

Question Number : 21 Question Id : 23366711045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into a complex sentence

“Despite several obstacles, she succeeded finally”
Options :
. In spite of several obstacles. she succeeded finally

, « Not withstanding several obstacles, she succeeded finally
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. » Though there were several obstacles. she succeeded finally

, «» There were several obstacles and still she succeeded finally

Question Number : 22 Question Id : 23366711046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into passive voice

“I saw him opening the door”
Options :
., I saw the door and he was opening 1t

, « Opening the door, he was seen by me
., I saw the door being opened by him

, » He was seen by me while opening the door

Question Number : 23 Question Id : 23366711047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into active voice

“I was kept waiting for two hours by him”
Options :
« I waited for two hours because of him

, » He kept me waiting for two hours
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. « He 1s waiting for me for two hours

, » | was waiting for two hours for him

Question Number : 24 Question Id : 23366711048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into indirect speech

“I will bring my laptop tomorrow™, she said
Options :

.« She said she would bring my laptop the next day
, . She said that she would bring her laptop the next day
. « She said she will bring her laptop the next day

, « She said she would bring her laptop tomorrow

Question Number : 25 Question Id : 23366711049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into direct speech:
“She said that she loved pizza so much”

Options :

.~ She said, “I love pizza so much”

, « She says, “I love pizza so much”
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. « She said, “I loved p1zza so much”

, « She says, “I loved p1zza so much”

General Knowledge

Section Id : 233667369
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667443
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 23366711050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary function of the Election Commission of India is to:
26 DY S0 Voo WBE) FANE DA
Options :
Formation of laws
, SO0 GrJodotitio

1.

Conducting elections
D) SO0 DB aTroLdcio
2.
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Pass budgets
} E,ch,eSE_JcﬁJ esardotdco

3.

Managing Parliament sessions
, & TG0 DAFDT O DE(rocstio

Question Number : 27 Question Id : 23366711051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The largest freshwater lake in India 1s:
PER30S” 3DV oD VERDY:

Options :

Vembanad Lake

Doy E zbd?bab
1. %

Dal Lake
oeed ‘SJCSR}JD

2. %

Wular Lake
. Syred SISV

Chilika Lake
33 a@? K)CS@J

4.

Question Number : 28 Question Id : 23366711052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The term "carbon footprint" refers to:
"SEND FESHNEG" 0D Do DO ATV
Options :
Growth of forests
| x 990 DEMDGO

Water pollution levels
D SPRDD JPaen
2. % @

Total greenhouse gas emissions
_, 20go OTFR Jrain &grren
3.9

Fuel efficiency of vehicles

TITT) QoD FG .0
. &%

4.

Question Number : 29 Question Id : 23366711053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

India’s first mission to study the Sun 1s:
‘5&?6)5&3) @(ﬁéaﬁ)éo DADEIS erdeddFo 0313535 QG & (o:
Options :
Aditya-L1
, e.e&ejs -L1

1'

Chandrayaan
, & B0G0IPO
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Surya-N1
‘é:u"qg -N1
3. %

Vikram Lander
. DE0 950(1‘,5

4.

Question Number : 30 Question Id : 23366711054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The 'Green Revolution' in India was mainly associated with:
PEBBF0S” 'S0 DDH0' PEEHoT HIE HVADE €od:
Options :
[rrigation reforms
, DOTDE Do) Srren
Industrial development
§ FOFTE STANA

2.

Agricultural productivity
» BOT O &TPYBISS

Environmental protection

?.’Jm?saﬁdca Folele kN>
4, %

Question Number : 31 Question Id : 23366711055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following 1s not a fundamental right in the Indian Constitution?
308 O e TrarjoriodS FOE Py, TG J?
Options :
Right to Equality
. VAFDSS TPE),
Right to Property
88 SV
2 5

Right to Education
§)c3°5 T8,
3. %

Right to Freedom
5 o
L SN2 JQJEJ

Question Number : 32 Question Id : 23366711056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

UNESCO stands for:
Q307 0e3:
Options :
United Nations Educational. Scientific and Cultural Organization
,DSTragOdd Doeg FTYAD BAL For)BS Vo
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Universal Science and Culture Organization
| o CFIDBNS DOy ol SONG BEISNS
United Nations Environmental. Scientific and Cultural Organization
DEORIODS HTDGE, TPOD OAEL JoR)HBE VoD
3., = Q@

Union of National Education. Science and Culture Organisation
| B0 DAY D0 B0 WORYHD Do WoFvo

4.

Question Number : 33 Question Id : 23366711057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Indian Parliament consists of:
26 FE0e0S” D &oLIoW:

Options :

Lok Sabha and President
-, 67808 B0t G
Lok Sabha and Rajya Sabha
. 57802 S0B0K TR
Lok Sabha. Rajya Sabha and President
| 8508, Tragdd S8ain e S

3.

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 19/98



6/7/25, 12:33 PM g01.digialm.com/CAE/viewHtmIPDFAction.action
Rajya Sabha and Supreme Court
| TP andakn WoS'dd
4,

Question Number : 34 Question Id : 23366711058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The capital of Uttarakhand 1s:
esdoeol TRTE:
Options :
Mussoorie
SSUNING
1. #
Nainital
) % TS

Dehradun
3. a@m‘g

Haridwar
'ZJ“@D"SB
4, %

Question Number : 35 Question Id : 23366711059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian River 1s known as ‘Dakshina Ganga’?
'$263 Horf 9 DLVHE TPEBOD IO B??

Options :

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 20/98



6/7/25, 12:33 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Krishna
| % 2

Godavari
2. Flﬁ o)

Kaveri
3. % 508

Mahanadi
4. % OTPDE

Question Number : 36 Question Id : 23366711060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'One Earth. One Family. One Future' was the theme of which recent international summit held 1n
India?
2,8 2R, 28 LHE000, 28 BIER' ©IB VI LEBBF0S” 200 D WossTAaD FPT°Y

DAPDE0 RAD807
Options :

G7 Summit
|« G7 3ToF DATDB0

SCO Summit
, « SCO 3T°d DAFDBO

G20 Summit
3. G20 %}SDU"Q DATDFO
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BRICS Summit
, « BRICS 320°d DATDBO

Question Number : 37 Question Id : 23366711061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary role of NITI Aayog i1s to:
DA e3A3rH @VE) I FG:
Options :
Conduct elections
. D) Sew adsfmcﬂﬁc‘,o

Formulation of policies and strategies
L, Derren 280k Jr§oion rdodoto

2.
Collecting taxes
| DRy e HAren Yoo

Enforcement of laws
, PO e955000) O o

4,

Question Number : 38 Question Id : 23366711062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The first Indian woman to go into space was:
903850858 DV A0S BB HY:

Options :
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Sunita Williams
-, Ade DDaHoy
Kalpana Chawla
- SUDZ.'P Ao

Ritu Karidhal
3 % 6930 5555“95

Tessy Thomas
Sy TR
4, %

Question Number : 39 Question Id : 23366711063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which country recently exited the European Union (Brexit)?
2BOL AHFTDADS AN (B318) Aol JiP,AoDD B30 DB?

Options :
Germany

. ad&i’)

France

BN

Italy
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United Kingdom
4 »O30JIBE Sohcian

Question Number : 40 Question Id : 23366711064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

‘Mission Shakti’ was related to:
gl is 3S’ AL H0L0O0DID:
Options :

Women's empowerment
| % 0T JOSES

Anti-satellite missile test
) v EDF5 DB GE £063 0BE

Cybersecurity program
» 2Pd BGT° S°B(EM0

Skill development for youth
, CODBH JDDETFDOE

4,

Teaching Aptitude
Section Id : 233667370
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 24/98



6/7/25, 12:33 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667444
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 23366711065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The purpose of formative assessment 1s:
QT°) E3°e3) S 90cST® A0, &6?50:
@
Options :
To assign final grades
L, DB o0 5@3050@53

To evaluate teaching staff
- S e 22308 B VTS
To improve learning while it is happening
» ©9e3°{0 &MY YD T Fobleblabrele nImaiels

To promote students
. DTGV Te3yroseeDS

Question Number : 42 Question Id : 23366711066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which learning theory 1s associated with operant conditioning?
D 92§ Jgrotho esBB0H SodNVAE SNEDE &od?

Options :
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Piaget’s theory
VOIS drotho
1. ® @
Skinner’s theory
5 a
» )06 SIS

Maslow’s theory
QY DErodso
3. ® @ @
Gardner’s theory

356 Hrodho
4, % G @

Question Number : 43 Question Id : 23366711067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A democratic classroom environment encourages:
DI I] AOAD (16 TTrOGE0 DB TAYTR0A:
Options :
Authoritarian discipline
| x OE SH0IE6

Passive leamners

_ Qa0 & 9a3fOEOe

2
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Student participation and dialogue
3_‘)@5{&3@ eyﬁfﬂ“gscmso 08030 Hoeries
3. ¢ @

Teacher-centred teaching
| o GITEiOD-B088y 576D

Question Number : 44 Question Id : 23366711068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one 1s an example of intrinsic motivation?
0S8 PO ST GE DE?
Options :
Prize for winning
|« BODD0GEIL 2TV

Fear of punishment
0. # %.5_ EjCl‘iJO

Desire to learn

| Iéd)agﬁmeufa £6¢
3.9

Parental pressure
4 % B0SoO0 A

Question Number : 45 Question Id : 23366711069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 27/98



6/7/25, 12:33 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

A teacher using Bloom’s Taxonomy should aim at which higher-order skill?
Qe HPECR TP GOOIPH0B GIPERHOID D &) S a0 YT VEjorT SR ed?
Options : =
Remembering facts
|y TPRTOD oo dco

Applying definitions
| NEGDITO dBoDnSA0

Creating new knowledge

58 ey Dyajoctcio
v = ® &

Understanding rules
, Qobadroy edo S dco

4.

Question Number : 46 Question Id : 23366711070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In pedagogy. ‘feedback’ helps:
&GS TR0, ‘@DI"0D0’ BIF SDATHDEISIE:
Options : /
Punish students
| % VTR0 3L 0B

Modify teaching strategies
, o O IrEPOR S8\
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Give homework

s o Fodo) RITEDS

Mark attendance
4w SPRA DHBoTAS

Question Number : 47 Question Id : 23366711071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which among these promotes inclusive education?
DB D& DAYV DAL P R0E?
Options :
Segregated classrooms
| % 00 S0DVED SN (fden

Fixed curriculum
DG F T 0T
2. 8% @
Adaptive teaching methods
|, 0870 5O DYBIR
Competitive grouping
| OB DI

4.

Question Number : 48 Question Id : 23366711072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which i1s a barrier to effective classroom communication?
B30 3OS ":omg&ﬁoej@é 5&‘1:0"53@.’:15%3 Eﬁ(éoérﬁ &é‘l{?} ATAYY
Options :
Use of visual aids
. O DAY arESo

Clear articulation
L« R0 €T 08

Language mismatch
s v P DOV OED Do

Active listening
. t‘.’DCiJ%P D0

4.

Question Number : 49 Question Id : 23366711073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A good teacher evaluates students by:
2,8 $000) EJTPHOINCD DEFEOR € $06 DESOTT VOT® DJ°ed:
Options : -
Comparing them with others
o, 8D RBOOE T'onco T8
Judging their behaviour
, T8 DGR ot Dabo oyl

2.
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Identifying strengths and weaknesses
LIEUNERECE S DRTIBOV DBodto T3
Ignoring slow learners
| . DDA RENDOITED D) Bocicio B

Question Number : 50 Question Id : 23366711074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Effective teaching 1s primarily about:
0EPHD0HRD e5°6S. DT D (1HBOD:
Options :

Completing the syllabus
| DOV QPY Yabdio

Giving maximum homework
. glereluoy 5 o&ﬁ&b QD(E0

Enhancing understanding and engagement
DT OAIL DINTTY DoTodotdio
3. @
Following textbooks strictly
, » FTOEDRT O Py Jedocdcto

Botany
Section Id : 233667371
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Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667445
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 23366711075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the Bentham and Hooker classification, which of the following families belongs to the
Gamopetalae group?

So@ad OAL TVES HBSGr P50, Fod 600705 DA TPATDLT DTEIS
BoAIE?

Options :
Annonaceae

e @S’Jfﬁo

Cucurbitaceae
N

Euphorbiaceae
. mﬁﬁ%cﬁjﬁn

3.

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 32/98



6/7/25, 12:33 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Asteraceae

0932
4, & [

Question Number : 52 Question Id : 23366711076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following correctly describes the structural composition of the Tobacco
Mosaic Virus (TMV)?
& $0b or8S” A& FerE dwarans PES (TMV) Jo°yee EEdy0 DOT DHO0E?

Options :
Enveloped RNA virus with helical symmetry
| LS e9506065° S0 A 98I RED

Non-enveloped DNA virus with icosahedral symmetry
s« DE IS 5526065 Edt30 G AN DD

Non-enveloped RNA virus with helical symmetry
. o DES e95°6065" Edcdo S 6D PBD

Enveloped DNA virus with complex symmetry
, « 822 o308 EPAD D0 ADDD DB

Question Number : 53 Question Id : 23366711077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Prions are composed of:
DO ) DT A0C: SALPCHTOW?

Options :
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RNA
], ® ZIeMISN

DNA
2 % G

Proteins

P

3.V

Lipids
o w DG

Question Number : 54 Question Id : 23366711078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a Cyanobacterium?
300 T8¢ PTergBaDOH ETEFGE DB?

Options :
Bacillus
| EPRYR

Nostoc

838

2.
Streptomyces
T DD

3.8 88 %
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Mycobacterium
, Eergdabo

4,

Question Number : 55 Question Id : 23366711079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which bacterial recombination method involves the transfer of genetic material using a
virus?
DOD D &DATHED B8] DT 20Y B2 e°$803E DJAFE DES DA?
Options :
Conjugation
| ® S“D&*‘ﬁﬁt%

Transformation
| o
o PRI 0

Transduction
| QSDC.‘D&:S
3.

Binary Fission
BB DS

Question Number : 56 Question Id : 23366711080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which fungus is responsible for causing Blast of Rice disease?
& 308 T°35° DO DO Dok’ R TOS SPRDBOD ?
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Options :

Rhizopus
L BEDD

Puccinia
| DSyase

Aspergillus
SISNeIIIS
3. % EXd
Magnaporthe oryzae

|2y '8 2,08

Question Number : 57 Question Id : 23366711081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which pigment 1s characteristic of Rhodophyceae (Red Algae)?
BEDD () ) &° G0l HBIERD Gorh DTPo DB?
Options :
Chlorophyll-a
L EEDS-D

Phycocyanin
L« DS
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Phycoerythrin
. » DECDOGD

Xanthophyll

2252565
4. ® @

Question Number : 58 Question Id : 23366711082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following algae has a diplohaplontic life cycle?
& S0 9392&36 B3 AP 0edE BIIG0 &0t10d?
Options :

Spirogyra
1.8 :Q-DE)EQUD
Polysiphonia
, o D OVT DAt

Chlamydomonas
v TDOEDTR

Ulva
OIoAN

4, %

Question Number : 59 Question Id : 23366711083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following 1s a liverwort?
$od TS DHEIG (DHE DY) B2
Options :
Marchantia
| &Byotdatr
1. ¢

Funaria
RS eNleloveL

Polytrichum
. FOBE
Riccia
aéam
4, %

Question Number : 60 Question Id : 23366711084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In bryophytes, the dominant phase of the life cycle is:
QAP BDS 3085 HerdW SF DO ?

Options :
Sporophyte
LR
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Gametophyte
, o TPV DES

Both phases are equal
3. % 006 Q3T QIO &0LIPA

Protonema

o TEDF

Question Number : 61 Question Id : 23366711085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pteridophytes reproduce by:
SOE PG D DIDOBE Bowzrow?
Options :

Seeds
| QDT PO

Buds
. 08 ANy

2.

Conidia
333 DR adr ApNey
Spores

» ﬁebg ApNeL
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Question Number : 62 Question Id : 23366711086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to Smith’s (1955) classification, which of the following is not a division of
Pteridophyta?
B (1955) D856 Ps°C0, & S0b Toe3e5° ;36&93._3@ @Y, DBRD IO DB?

Options :
Psilopsida
BT
Lycopsida
, w IS

Gymnosperms

BTG

Pteropsida
" 556?0‘3(:"

4,

Question Number : 63 Question Id : 23366711087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a gymnosperm?
& 308 TOS” BATY 0) (DBT DB 2Y)) A&?

Options :
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Mango
L% 20PDG

Wheat
. % B

Question Number : 64 Question Id : 23366711088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In Pinus, the male cones are found?
DIV 200G DM FOLEDLD DE) ¢ EDION?
Options :
On upper branches
L R0 Eayep

In the axils of megasporophylls
53@25565338% 508 Serods’
2. %
On lower branches
_ 800 208" Evp o

3.
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At the base of ovules
, 29050 GB0E), CTH0eS”

4.

Question Number : 65 Question Id : 23366711089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The term ‘taxonomy’ was coined by:
‘PSP’ €90 DIPD) DG PAFE0D0A JDE?
Options :
Carolus Linnaeus
. BPER D) A

A.P. de Candolle
L .0, & 5ol

2.

Bentham
3 ® E?)O@E.D

Hooker

Question Number : 66 Question Id : 23366711090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following statements 1s correct in relation to the Typification principle?
BDVEND e ©0e20H0) & $0b DELIVES” DO HVBHA?

Options :
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It is irrelevant for nomenclature
% QO DPAEGEPDS Doy T

It only applies to extinct species
, « A8 90B380VT 0D BNV AFEGaD HOWOR

A taxon must have a nomenclatural type
L, 0D EPEP00) IPS6Es B &otd

3.

All names must be registered in databases
O DY BBV IO Bafrd

Question Number : 67 Question Id : 23366711091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Systematic taxonomy aims to
E0Q0D HPECE AINE). VLo IAE?
Options :

Classify plants alphabetically
DYV BEBEN0S” HOEBoLIco

Describe plants only morphologically
, QG O BHL0 5 BISTT DHBoCE0

2.

Study evolutionary relationships
L & DO Dowomro eeaDdo dabo

3.
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Ignore ecological roles
, DODEE GO DOoE ST Do

4,

Question Number : 68 Question Id : 23366711092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The science of geographical distribution of plants 1s called as:
20 © THVE DoDED 9EFANN0 B TP DaoEPED?
Options : ~
Ecology
. ?bm&bdea TR0
Phytogeography
, o DS RATED

Floriculture
;@ S TR0

Paleobotany

4 % a DT )y & F°Q0

Question Number : 69 Question Id : 23366711093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Wallace’s Line separates the:
T GO & $0O T3S DB DA Fod:

Options :
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Palearctic and Nearctic realms
- bﬁﬁ)cﬁﬁ%éé 00030 i’)cﬁa@béé TPeR{en

Oriental and Australian regions
£,0aoee5 280ID VDAL JFroTrew
2. N
Ethiopian and Palearctic regions
olalobbireloviISIFublelonte) .i)“@m&ggé PO
3. ®
Neotropical and Nearctic zones
, DB GHES 208030 DaIrONBSE octeren

4,

Question Number : 70 Question Id : 23366711094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Vascular bundles in dicot stems are:
&5(23“‘6’25&3: SooEre)es” °20), 06 L0G Sy Jer eotraw?

Options :
Scattered
| DO

Closed and radial
5 % APV B BRaLEd
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Conjoint and collateral
s » Doa3nE B3 ererse

Absent
4 T

Question Number : 71 Question Id : 23366711095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Casparian strip is found in the:
ST 0O YD & §0b TBS” I & SIDROS ?
Options : e
Cortex
L« 585)

Epidermis

9 £.
- Q@C‘L&éa

Endodermis
- Jo&s d@éi}

Xylem
 « O

Question Number : 72 Question Id : 23366711096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Double fertilization is characteristic of:
Ce8 DYTEAD 9D VL0 DBS” EIDRA?

Options :
Gymnosperms

BTN

Algae
e3&)
2.% 0

Bryophytes
, RATRSY

Angiosperms
Ao arRGL

4.

Question Number : 73 Question Id : 23366711097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the Polygonum type embryo sac, the number of nucle1 at maturity is:
FOF I 680 Dotk VoS, HBDELH $93” SogsPe) Vo) Jods?

Options :

1_&%6
2.8 4
v 8
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%7

Question Number : 74 Question Id : 23366711098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ecological succession that occurs in an area where water availability i1s extremely low
is called:
DB 0 Trer SLY I &J) FoBoeS VBB DTYDEE TEITLI) DD HVFE?
Options :

Xerosere

. 3365 25056

Halosere
2 % 3355° a6

Hydrosere
8 Dows

Psammosere

Question Number : 75 Question Id : 23366711099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s NOT a component of an ecological food web?
$od TS DO DTG €55556 HLOES &°(fo T?

Options :
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Producers
r.%ejbe"_amd)m
1. % =

Decomposers
. D&Qécl?dgw

Bio accumulators
BIBIIER), ST
3.¢ ) W
Consumers
4. % )O3R

Question Number : 76 Question Id : 23366711100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following represents a population?
308 TrBeS” DO BIPLr WEAOR?

Options :
All plants in a forest

- 990835093‘5 €0 ) D) ew

All deer 1n a forest
| 906085 &) 9y Rogen

All animals in a pond
, BODY’ &) ) 2BV

3.
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All trees 1n India
OB 6D) DY dyEven

]

4,

Question Number : 77 Question Id : 23366711101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Primary productivity refers to:
TRADE GTEES & §08 TES BID AFDW0?
Options :
Energy used by herbivores
, TR0 o (O° DI Aol 33

1.

Rate of energy release during respiration
L TR D" Dl 2§ e

Total amount of energy fixed by plants in photosynthesis
T 206D orgoe 2ng) e w080 2ndo 38
Energy flow through food chains

| o 8086 Fenwe oo 38 Hovro

Question Number : 78 Question Id : 23366711102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Biodiversity is highest in:
& $08 TS IE) ¢ BODIEGH0 I DT EDDOE?
Options :

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 50/98



6/7/25, 12:33 PM
Tropical rainforests
 Gado0GE®) aﬁovds'a?sw
1. ¢ £3 ol

g01.digialm.com/CAE/viewHtmIPDFAction.action

Tundra
o« Q05°

Deserts
3. % DT

Temperate grasslands
|, PDEQ AGDoTETeD

Question Number : 79 Question Id : 23366711103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a component of biodiversity?
$od TBS” BIPDGS;0eS” ewrrio ST DB?

Options :
Genetic diversity
| 2R DDA

Cultural diversity
_, ToRyBE PDGo
Ecosystem diversity
a’mgaﬁdea 5355’3‘&3 533@50
3. % o “—
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Species diversity
2503 b&)c‘,ﬁéo
4, ® G

Question Number : 80 Question Id : 23366711104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Water enters root cells by:
DB EereS d DA Jer POIK0H?
Options :

Endocytosis
|« D00

Active transport

Osmosis
93535&?05
3. ¢
Diffusion of gases
4 % ©0°PQ3VDD DVCED

Question Number : 81 Question Id : 23366711105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The pressure potential of pure water 1s:

RGENDORD DB D 0G0 Jodd?

Options :
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Zero
-,
> ‘OJRPQ,
Positive
c;jmejégo
2. ®
Negative
mwé&So
3. %

Equal to osmotic potential
, B85 TBIODSE DArD0

4.

Question Number : 82 Question Id : 23366711106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a micronutrient for plants?
$od TS AW O EDATEDE WrE) Tgo DAY
Options :

Nitrogen

L DB

Potassium
> P00

Iron
3 ¢ DGO
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Magnesium
)
aﬁyﬁ‘lacﬁoo
4, ®

Question Number : 83 Question Id : 23366711107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Chlorosis is caused by the deficiency of:
ETDD 6 0B 73S D 5700 HY L0 ?

Options :
Iron and magnesium
, DG B0 E:'Dﬁgdfboﬁjo

l. %

Calcium and sulfur
) S“’gcﬁjo Poblelov sy ":0035

2.

Zinc and molybdenum
_, 208 208050 DI

Nitrogen and boron
L« DT RS bt ST

Question Number : 84 Question Id : 23366711108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The net gain of ATP during glycolysis 1s:
AE'DDD DADOS” I V). DEE e°eo Jod

Options :
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4 molecules
L% 4 e9gdaHe

2 molecules
5 v 2 IV

6 molecules
5 % 6 98D

8 molecules
, % 8 €9ED

Question Number : 85 Question Id : 23366711109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Red Drop phenomenon in photosynthesis indicates that:

86eaa3§ Rodird oS B& GO GyAgaD B APDRVE ?

Options :
Photosynthetic efficiency drops beyond 680 nm.

) Sl AV RNIlesblotc Tt @mgﬁo 680 nm Sol3 IE) ST DED B0,
Photosystem I 1s active beyond 680 nm.

_ 680 nm S D& édoﬁ@%eeﬁe TP 1 SairIwLone otnod

L.

2.
Photosystem II absorbs light beyond 700 nm
. PSP 11 700 nm P S0 (Fariod.

3.
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Chlorophyll-a does not absorb light at 680 nm
, §BDS-A 680 nm HG 5208 FrocIe.

4,

Question Number : 86 Question Id : 23366711110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary pigment involved in photosynthesis is:
36ea23§ RodrAdaneS” FE°D YD HYGDg0 IO ?
Options :

Chlorophyll-b
1 ® %6853‘395'25

Xanthophyll
) ® &5"0@63)95

Carotene

5 % 3OBS

Chlorophyll-a
L EEDS-D

Question Number : 87 Question Id : 23366711111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Photorespiration mainly occurs in:
96656?036::15 DE) ¢ DL DM 2EODOBAE ?

Options :
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Cytoplasm
2065°5)°
s 20
I. = ae ]

Mitochondria only
206" 5QaDS” PG

2.

Chloroplast, peroxisome, mitochondria

BB, DO, 25 s2Qan

3.

Only chloroplast
8B & argd

4,

Question Number : 88 Question Id : 23366711112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Nitrogen 1s absorbed by plants in the form of:
D) O DGRID YT 2 ErdoLS” (farJo:
Options :

Nitrate and ammonium ions
288 00k 97 D00 YOI

N2 gas
) ® N2 J"CIiDQ)
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Amino acids
L 0D e3537°0)
3. )

Proteins

L« TP

Question Number : 89 Question Id : 23366711113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following steps in nitrogen metabolism 1s catalyzed by the enzyme
nitrogenase?
DT RS 2D $aHS” DFRID JoZad GPO° 28T 56§ D 2
Options :
Conversion of nitrate to nitrite

. DE0 BT ATPR0A.

Fixation of atmospheric nitrogen to ammonia
| S°PAEVRBRD DT JOITFT® AP CNEO.

Oxidation of ammonia to nitrite

20, DAITR DT 9S\S0ed BaDHco
3% SSA

Reduction of nitrite to ammonia

D350 e_emébcmorfﬂ SAo0DG0
F “—b 2l

4.

Question Number : 90 Question Id : 23366711114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Auxins are primarily mmvolved 1in:
298y 59 SOF HEPAZLD Herdo A ?
Options :
Leatf fall
1. % 350 TPV

Root formation
DO Dmsen
2. %
Flowering
2 Bfg_')ﬁsb(ﬁaét}

Seed dormancy
L DB DY

4.

Question Number : 91 Question Id : 23366711115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which plant hormone is known as the “stress hormone™?
& $08 TGS B AN VS “QPI TG T DODERA?
Options :
Cytokinin
L« REEID
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Gibberellin
, 0B085

Abscisic acid
» e_aef)b‘?oé QDG

Ethylene

Question Number : 92 Question Id : 23366711116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The structural and functional unit of life 1s:
2D ol TYEFELE BALL SaIre) S aardS IO?

Options :
Organelle
03305

£ 0

1.
Nucleus
éyséobfo

2. % ©
Tissue

3. % SEI2P0

Cell
4. v S€30
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Question Number : 93 Question Id : 23366711117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of chromosomes in human somatic cells is:
D00 38608°D FArBS Sergd” ol FaArd e Doy Jod ?

Options :

Question Number : 94 Question Id : 23366711118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the solenoid model of chromatin organization is correct?
§ar3S ERBNS dwg), FOToNE AT (1HB0D §od TR DO DTHA?

Options :
It suggests that DNA is coiled around RNA molecules.
. 90 DNA RNA @9£0:)© ciodaor chid) et 608D QPdod

It describes chromatin fibers coiling imto a 30 nm helical structure.
L2 BB peden 30 nm 39S Jome085°8 uLEEr) DHBRS

It explains the direct attachment of DNA to nuclear membrane.
.20 Jorgead OD AR & ] &) PBLE VLT DHBRS
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It only applies to prokaryotic DNA.
L« Q0 TTBE AN & ATPGD HOA
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Question Number : 95 Question Id : 23366711119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the primary difference between Euchromatin and heterochromatin?
a8 50D BALL EHE LGS 20y o PGS B DE?

Options :
Euchromatin 1s transcriptionally inactive, while heterochromatin is active.
| 0P AP Sa3TGRSore G000, a0 §aredd airIeome &otnod

Euchromatin is densely packed, while heterochromatin is loosely packed.
. COFEIRBD AT DEREIB, 08 FEEEATrSS HeenT DYBD &otwod

3. ¥
Euchromatin is genetically active, while heterochromatin 1s tightly packed and inactive.
COrEOrBS  augdlorr  Sairdvomreaotnod, arSOEIrOS 68 dded

Soirdarretonr &otod.

Heterochromatin is found only in prokaryotic cells.
|, POOEIXOD Sdwo TEB(OS Sered” PG SIOB00.

Question Number : 96 Question Id : 23366711120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of inheritance pattern 1s observed in Mirabilis jalapa for flower color?
TNOD 2 &5° DD Borbdeh Doerodow) 2 S0 TPERBG DATTPRY (0D0csEiN?
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Options :
Complete dominance

| ‘é’ao:gyg 9_9@?’.39350

Incomplete dominance
v 9503093"2 93@03650

Co-dominance

g Qa° 93&:;3@50
Polygenic inheritance
JRAXeLSLY 3.'.’:;\’1.)5 md}be:‘aso

4.

Question Number : 97 Question Id : 23366711121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true about the Watson and Crick model of DNA?
TN 0Bt §§ D DNA (980D §0d T B DTHA S°?
Options :
DNA 1s a right-handed double helix.
, DNA 938 OG0B arero Cend DSy

The two strands are held together by hydrogen bonds
L 80 $0830e0 TERS 05w BT $O €otraw.

2.
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Base pairing follows Chargaff’s rule.
B0 28 dahEo BT JADHAT) VDO

The two strands run in a parallel orientation.
, » 00 0N DAToBE S6e3eS” Do

Question Number : 98 Question Id : 23366711122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the Lac Operon model, which molecule acts as an inducer for gene expression’
erE L,DT°D Haurred’, 2300 éﬁ%SdsaéJ DB HDABD 96 DO?
Options :
Lactose
Lo TER
Glucose

L« (1°E8

(Galactose
FerEH
3. % &

AITP
1 % DD

Question Number : 99 Question Id : 23366711123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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What is the primary advantage of using RFLP markers in plant breeding?
2A0E) © oL RFLP &6 ¢ &:0arhosco H9 $98 FEE Harado de?
Options :
They detect single nucleotide polymorphisms directly.
, @D 20AS A(EAIrBE PO 20000 DO (HJPAL

L.

They allow analysis of DNA sequence variation in specific genes.
L, 0D D0 2050 DNA 363 ITD) DFA0DTIS 9:00BI 00

They are less labor-intensive than RAPD markers.
0D 6IDE AG)G SofS B D FE EPODHDY D

They are more cost-effective than molecular markers.
L0 DO A6 G S0 I D DANE EPEODI D

4,

Question Number : 100 Question Id : 23366711124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The enzyme involved in unwinding DNA during replication i1s:
DAEPDE V00" DD K0 DEAADES” JE°D JoZa:
Options :

DNA polymerase
L% G PO0S

Ligase
2. % O
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Helicase
= £
3 v P8R

Topoisomerase

4 % éSﬁgﬁ @Sacﬁ)éé

Zoology
Section Id : 233667372
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667446
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 23366711125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following protozoan causes African sleeping sickness
& 800 oS’ DB DED VDA DEIDL TPEEBVNB0H?

Options :
Plasmodium vivax
, PG00 Parsy
Entamoeba gingivalis
) % DOBILET E0EaT* DD
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Trypanosoma lewsii

, BOITAr Sy

3.

Trypanosoma gambiense
L, BOSF 8 mroDHAY

4.

Question Number : 102 Question Id : 23366711126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Animals lacking excretory, respiratory and circulatory structures are
& $08 TS DOGI, FLOEF BB PG JTEFeD GO 20D D ?

Options :

-, Sponges / Jryoden

. . Tapeworms / Beda°0) &0

e Liver fluke / 56 a’,pé

, . Threadworms / 83&&ae6 en

Question Number : 103 Question Id : 23366711127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The inner lining of radial chambers in sponges is formed by
Fy0BOS" D BEADES (0 SO G B T(T° BB

Options :
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Pinaco Cytes
& 2360
], ® —
Choanocytes
 SonS»ew
2.9 —m

Porocytes

, w TR,

Archaeocytes
L €30) A3° 260

Question Number : 104 Question Id : 23366711128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This 1s the common factor between housefly, anopheles and cockroach
Q0 TTIY, 90O dai e.S“’QaSP_J 206 s lmylelx) (5“6??.’35@ seG3Eo. ...
Options : =
three pair of legs

PG %) Sﬁﬂma
1. ¢

two pair of wings
, 00D 280 0S),e0

2.
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 cuticle covering the body
00D 8N ot Erg38eS

g01.digialm.com/CAE/viewHtmIPDFAction.action

presence of cephalothorax

| o DS BTEY &8

Question Number : 105 Question Id : 23366711129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s true about Mytilus?
AOD HO0D $0 HELIVES” DO HBIA ?
Options :
Mytilus belongs to class Arthropoda of phylum Mollusca
BV PO AV ANE), BTTT BGHAS BoBIS

L.

Mytilus belongs to class Amphineura of phylum Mollusca
, DBV PO DVOI). AL, CIPEDITT® SE(IBS BoOIE

2.

Mytilus belongs to class Pelecypoda of phylum Mollusca
, B0 Po0o VO AVE). DTJTT® BE(AS ToAIE

3.

Mytilus belongs to class Echinodermata of phylum Mollusca
2SO POO DVOIF), V). IDSETYLT SEEAS BodIE

4, ® °—

Question Number : 106 Question Id : 23366711130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following statements 1s true about Unio?
& 208 T ALPI@T (80D DA VBIA?

Options :
Unio has a one chambered heart
| QIOIPACITSD 28 (LY TRyaio &od

Unio has a two-chambered heart
5 % Q3IPAA3IPED G0t (L TPytdodo &od

Unio has a three-chambered heart
5 » ARPAAITL DO AL TPyBdado &God

Unio has a four-chambered heart
4 » QPAAIRE) TP (HEL® TPycdado ol

Question Number : 107 Question Id : 23366711131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which 1s not true about the Balanoglossus?
& 308 IO erOIHID 1BD IO dao T°E?

Options :
1. #

It 1s found 1n shallow waters between tide marks along the coast of warm and temperate oceans.
2B DI AB05N DIFY DTFRINTO G0 Dot WOV HER A DING Bere® SDDRB.

Balanoglossus 1s not world-wide in distribution.
, ePOSHOD Do Do’ S
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3. %

Balanoglossus 1s tubicolous living in U-shaped burrows excavated in the sandy bottom.
eEPOIHORD QRVE 9D B3 U- e55°6:2) £5°600e5° DN m?sef)gse_)ia.

4, ®
The walls of the tube are lined with mucus secreted by the mucous gland of the animal.

QT(ES G30S), HEeD 200 CVE), 32y, (od BP0 Y0 FoS SDVE Gotrow.

Question Number : 108 Question Id : 23366711132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The larvae of Echinodermates are
A8 GOy PO
Options :

Trochophore and Auricularia
, S8T6 obatw B S80I

Bipinnaria and Brachiolaria
L Qﬁ)?f)tlﬁotb" 080t grSAirSdair

Redia and Carcaria
. 3Aa3® S80I svmzjao:iﬁ

Miracidium and Cysticerci.
QTG00 BT ?of’g?a%

4, %
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Question Number : 109 Question Id : 23366711133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Of how many segments Hirudinaria granulosa 1s made of?
PAOEIOA® TPROFS P D 200 S IJ) DPMrOE SAIrd SaHeCG0d?

Options :

%13
2.v 33
3. %43
5 233

Question Number : 110 Question Id : 23366711134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Hormone helping Insect Metamorphosis 1s
& S0 TOS’ SHO EPoBCERL VIFALDE FBYO IO ?

Options :

, Thyroxine / @o°SyO

L.

_Ecdysone / NS

2.

, » Pheromone / DT AP

. » Thymosin / @3°00

Question Number : 111 Question Id : 23366711135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Which among the following 1s incorrect about Agnatha?
Y & DB §obd TBS” DO BD?
Options :
These are also called as jawless fishes
L x DD BHETD BHen 9 S e908TH.

Scales and fins are present
,, Tenen B0IL BE).en E0tTow.

They adopt parasitic mode of nutrition
L 09D DO B TNSHE DoPard) edw0dJromw

3.

They have a circular mouth that acts as sucker
T8 TS0 S 60000, W8 DENAT DIBS.

4.

Question Number : 112 Question Id : 23366711136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which among the following 1s incorrect about Cyclostomata?
@ggﬁm@ 80D &2 S0b T3S DO B
Options :
Their vertebral column 1s made of cartilage
|8 DAY m;,caaean:‘:ge%ﬁ Saird daberdod

1.
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Lamprey and hagtish are examples of this class
5 % €P0g) BAIL TBA DA & BEANRS GTPITGLILD

Their digestive system 1s complete with stomach, food pipe and intestines
8 BEOIOD SEDR), 58S L) S0Batw DDHOE LPO 9B

Their circulatory system 1s closed with 2 chambered heart
, T DAOE HIHY 2 (A0 MoEE MrdDADLCEE

4,

Question Number : 113 Question Id : 23366711137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The endoskeleton of Scoliodon 1s made up of
FOAPEES @), JoE) DS & $od TAS” BIE EXToHoIDAIS ?

Options :

Cartilage / 0,c0eQ

1. ¢

» % Bones / oadgen
; » Scales / SFennen

Plates/ 226
4. % = o

Question Number : 114 Question Id : 23366711138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Salivary glands are absent in
& S0 T083e5° DEIS® ererae) (oden &okd) ?
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Options :
Musca domestica
2
D0 va & s
® ea

L.

Blatta orientalis
, 98 £,8AD0ETdD

2.

Anopheles maculipennis
. SV ATHADIY D
Rana hexadactyla

Rorrwi 35“5"3@%9.?“
4, & el

Question Number : 115 Question Id : 23366711139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The common name of Calotes versicolor 1s
2e5°3 5 mﬁeyS VL), FTPEE DO E?

Options :

Garden Lizard
80 dard
" 4 Ga (i

.
Tree Lizard

&3 Oab
w s

2.
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Wall Lizard
oced dard
3. % [
Monitor Lizard
i A DeNd E)eyg

4.

Question Number : 116 Question Id : 23366711140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The body part, which is absent 1n birds
& 08 o835 HEOOS” G 386 etio DO ?

Options :
Forelimb
| v a0 sre

Hindlimb
5 % aE TP

Pectoral girdle
, DECS DAL

3.

Pelvic girdle
3:)@5§ NTt={ A%
4. % e

Question Number : 117 Question Id : 23366711141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which 1s not a living fossil?
& 308 °¢35° DA HRHD IR0 5ED?

Options :
Sphenodon

| ?OQSG"S

Peripatus
), x DOFOD

Archaeopteryx
. €58) A3rRBS
3. &

King crab
, = S00 578

Question Number : 118 Question Id : 23366711142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following animals are uricotelic?
& 306 2ot aLTrOEEdS Bodren DD?

Options :
Land reptiles, birds and insects
L, B DD, DL LB Serzren

Fish and protozoans
L, B0 080k TETE TP
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Frogs and toads
| 8Dy S000ID HEB SDyew
3.

Birds and mammals
4 % 280 H0dadw 26ren

Question Number : 119 Question Id : 23366711143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following bones form the wishbone of birds?
$08 TS D JHWE DEOL DA 57D DBYER0E?
Options :

Hindlimbs
L a0& 3.)0855

L.

Clavicles

2. %

Skull
5 % 80

Pelvic girdle
b®5§ SAEED
4. % €

Question Number : 120 Question Id : 23366711144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The soundbox of birds 1s also known as
DLV FPOBER TR e DeOFW ?
Options :
Synsacrum

Larynx
NN TS
4. ®

Question Number : 121 Question Id : 23366711145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Notochord 1s formed by
SETE IO & §od &) DB T(T® IBDOB0D ?

Options :
Mesodermal cells

) 3)3535&%95 ggaren)
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Ectodermal cells
. DECOLS Sewen
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Epidermal cells
, DVEES Seen

3.

Endodermal cells
) Dok GOS Sewen

4.
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Question Number : 122 Question Id : 23366711146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which among the following 1s incorrect about acoelomates?
VS DOy (80D & Fob TS A& BYN?

Options :
Body cavity 1s absent in these type of organisms
| s 88 BSOS BHoeS 386 DTG0 GGy

Tape worms are the best examples for acoelomates
o MES EOD B DO EBD GIRTEERD

Mesoderm holds the internal organs in its own place
, WTEE) 08968 IODIVN T° VS DS GorAIE

3.

Nematodes also belong to acoelomates
2 v D Een e IES DBV BoBID

Question Number : 123 Question Id : 23366711147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which among the following is coelomate, bilateral and has organ system level of
organization?
$08 TredeS” Eaned’ B0, F(IEE HO0K D0D HEHY Frow VoI DA &) & IE?
Options : o |

Hemichordates

4 Ga

l.
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Aschelminthes
- E.
- e_‘maﬁ)éoéa

Coelenterata
3 % 2363060067

Platyhelminthes
. Q"EBEJ”B&O@ED

Question Number : 124 Question Id : 23366711148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which class has the largest number of animals?
& 300 &) D AGHAS” SO DowES” BB EoIPAD ?

Options :
Fishes
% e

Reptiles
) % ‘:(}6?0;,@@&13

Insects
3 ¥ der)seen

Mammals

Question Number : 125 Question Id : 23366711149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Which one of the following is a metatherian mammal?
208 T735° 2ePBOADD 2630 DH?

Options :

Echidna

1. ® QaG)CI'-"‘l
Kangaroo

, v Somredoe

L » Shrew / Qo°

Pangolin

L« o0 DS

Question Number : 126 Question Id : 23366711150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a functional unit of a body?
& $0d TS 3060 AVE), SAIPBLE ALEIS D&?
Options :

Mitochondria
, S’ SP0G a3

®

ytoplasm

¢S’ reo

Fe/’

2. ®
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Spleen
LI
4+ oD%
3. o3

Cell
4 v 830

Question Number : 127 Question Id : 23366711151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In which of the following type of cells the cell junction 1s abundant?
$0d &:9) D BERD SEPVS” S BoED VAT E0e0H?
Options : |
Cardiac cells
], ® Efj"’;)(',f)(:ﬁ_) geaee)

Prokaryotic cells
. T8 BE seren

Hepatic cells
s » RIS Segen

Epithelial cells
4 v 0BOADES Lerew

Question Number : 128 Question Id : 23366711152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following are phagocytic cells?
& 808 o83e5° HS S D?

Options :
Neutrophils, Mast cells
, AFEEDSy, ArY seen

Mast cells, Macrophages
L, 0P SEwe, A DB

Mast cells, Antibodies
| ey Srew, a3roederE D

3.

Neutrophils, Macrophages
» é};ﬁ@ﬁ DSy, JrEDBD

Question Number : 129 Question Id : 23366711153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s known as the suicide bag of a cell?
& $o8 TS BID 60 QY BBLIPS[ Vo) D DRVFW?
Options :
Mitochondria
-, E’sPoG a3
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Golgi Complex
() &) S°00) § ;)
0. #® Fird L

Lysosome

L OTED

Nuclei

Question Number : 130 Question Id : 23366711154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following cell organelle 1s responsible for transporting, modifying, and
packaging proteins and lipids?
& $06 or8eS° D &ee edaDH0 T BAIL ADELL Borer BaLErEIS, DHBoSTEIS

S08a30 820 BADLERIS e[S HIPR0H?
Options :

Mitochondria
, 2u&’sPog Al

Endoplasmic Reticulum

_ o& Quf‘oéé 58300

2.
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Golgi Complex

TT“&) ?Obgg
3. & 2

DNA
4. % d ;)‘5.:0.

Question Number : 131 Question Id : 23366711155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is DNA made up of?
& 806 °8¢5° DNA 288 6rYodowserdod?

Options :
Adenine — Guanine

. TR - TP

Cytosine — Thymine

. DD - AR

Both Adenine — Guanine & Cytosine — Thymine

9EDN - ms@:% & DS - 5::135 olelehy

3. ¢

Cytosine
4 % D

Question Number : 132 Question Id : 23366711156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Who 1s known as the father of Molecular biology?
& $00 &) TPOS” DO HPDLDIVE WALPOR, DTELTVET DDFE?
Options :
Linus Carl Pauling
O30 =0 J*®oh

James Watson

, 353‘3 @@Qt%

Francis H. Crick
@“KJDE) 0. 88
3. %
Mahlon B. Hoagland
o e D. Frrol

Question Number : 133 Question Id : 23366711157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a type of RNA involved in protein synthesis?
& Sob S TS 03" eF"D RNA 650 D62

Options :

. » SNRNA
».v TRNA
, « YRNA
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Question Number : 134 Question Id : 23366711158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For combination to occur in DNA molecule the correct pair of the four bases (A, T, G, C)
1s?
DNA eoa)eS” 2o0iro a6mreotd arendd Foorees” (A, T, G, C) 23D 26 62

Options :

AandC,Gand T
L x A 08ain C, G odadw T

AandT.Cand G

Aand G. T and C
. s A D0do3w G, T wdaiw C

Gand A, Cand T
. G0 A, Codadn T

Question Number : 135 Question Id : 23366711159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Red muscles are rich n:
JG Sodoren) DedeS” DDA Eotraw?

Options :
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Myoglobin and cytochrome
|, ATHDS dbain pESE D

Lactic acid and acetic acid
) EJ‘“%@ e300 S0BA3D DS €350

2.

Haemoglobin and glucose
o TRFDS bt (18R

only myosin
L« DATFDS SRy

Question Number : 136 Question Id : 23366711160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Open Blood vascular system 1s usually found in
LD & TR 06 DR DBES” EIDRS ?
Options :

.« Crabs / Dé&en
, « Monkeys / &¢oen
, » Crows / 5e80en

, » Humans / sd3°Qs)en

Question Number : 137 Question Id : 23366711161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Typically, Spiders’ blood 1s blue due to the presence of
FPTPEE0TP, FPSDEML G50 Do BorheS” &oérIS TG0 D ?

Options :

~, Haemoglobin / 32§D
, » Hemerythrin / 33°2088

. » Haemocyanin / 2323700

. » Haemopoitin / 3°draranedd

Question Number : 138 Question Id : 23366711162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Humans have bones in the vertebrate column
ANV :)bolmsesﬁ D) DAV E0EPaN?

Question Number : 139 Question Id : 23366711163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Energy released by catabolic pathways is stored in how many forms?
5o(eeS D5 J0rpre) (TR DEGOARE 3§ DY g Doy BoDLEIR0H?

Options :

w1

Question Number : 140 Question Id : 23366711164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The TCA cycle occurs i which region of a prokaryotic cell?
TCA g0 938 TseT10S $60¢5°D D FrodhosS” 2ELSBE?

Options :

~, Cytosol / 2¢5°0%5
. » Mitochondria / 20¢5"sPog05m

_ Ribosomes / 3eS°& SN

3.

, . Golgi complex / rw% 5P008y

Question Number : 141 Question Id : 23366711165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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NAD™ can be derived from which vitamin?
NAD™ DO Qo DW0E?

Options :

L% A
2.$3C

. « Riboflavin / 8e5 DD

. v Niacin / Qa3rdo

Question Number : 142 Question Id : 23366711166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the intermediate of the Kreb’s cycle 1s utilised in the formation of amino acids?
SE5y WEoS'D @c;ﬁs‘égoeﬁﬁ & $08 TOS” DB VRO APV DTS’

Ga03PH 0L EIE005?

Options :
Citric acid
o 088 esvo

Malic acid
L« 0°O8 eso

Isocitric acid
L DIVBS esao

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 93/98



6/7/25, 12:33 PM g01.digialm.com/CAE/viewHtmIPDFAction.action
a-ketoglutaric acid
., a-SE°(ErdE eso0
. o )

Question Number : 143 Question Id : 23366711167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The entry of pyruvate into the TCA cycle is inhibited by the presence of a high cellular

concentration of
TCA 5g085°8 pAIDE D30 & b TGS B VS, A DegErd FoGd &octo

HO DT HoILIIR0H?
Options :

. Pyruvate / p60HE
2.v NADH / dRJETD
. Coenzyme A / §JoB0

% AMP / Qo0

Question Number : 144 Question Id : 23366711168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

FAD 1s reduced 1n which of the reaction of the Kreb’s cycle?
S5y o AN, D VANVCS” FAD (He2008?

Options :
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Isocitrate to oxaloacetate

, DTDGE D06 es5oyS 0BG

L.

Succinyl CoA to Succinate

|, O3PS CoA 0d 03456

Fumarate to malate
. ?Qyéméei QoG AT

Succinate to fumarate

| %8y56 2008 Q008

Question Number : 145 Question Id : 23366711169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In gene therapy, the gene defects are cured 1n a child at stage.
2] DS, 220§ &' FOD DYO &3 T 3365 dabo BIW.
Options :

Adult / D¢dew
1. ® @

.« Teenage / 8338
; » Old / Q008

, » Embryo / oo
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Question Number : 146 Question Id : 23366711170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In 1990 the first gene therapy was given to treat which deficiency?
199065° O &°JE D8ty BOTEIS AGE 2805 Ddedy odossertod ?

Options :

| % Smallpox / 025
, « Vitamin E / DD 2

.« Protein / &S

, »Adenosine deaminase / aIHo & LI

Question Number : 147 Question Id : 23366711171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Exogenous antigens are associated with which molecules in order to activate cells?
SEPO DE0D0 VBODTEIS 757 oIS D e9ENNOT Doerodo SO &otran?

Options :

., Class IMHC / 520 I da 3°0 O

Peptide molecules / DRE e9£30:)e0

2. ®

. » Class IMHC / 370 [ da» 37D D

4.

, Antigen presenting cells / a3ro&dE00 HEBy0 Serew
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Question Number : 148 Question Id : 23366711172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Name the type of culture which 1s prepared by inoculating directly from the tissue of an
organism to culture media?

2D @wg), SErvo Aod S&JQS MASTL DA Bsten Daco TP(O° SOErd)
BDODED ge;aé 30 De3?

Options :

~ Primary cell culture / FODE S63 Vo) HB

L Secondary cell culture / &‘Seﬁa\cﬁ) S£3 DO HB

, » Cell lines / g3 Sodoaen

L Transformed cell culture / drarosddo DodD €6 ":00‘:’0@9‘3

Question Number : 149 Question Id : 23366711173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following enzymes 1n bacteria are responsible for restricting the growth of viruses?
& 208 JoBIedS” er(SBaIres’d PEdY BAHMHSVR DFBoBEEIS TBELAL] JoZDd DA?

Options :

Restriction endonuclease
-, 0BB &
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TOp 0150111C1rasc

) ® ésﬁﬁﬁaﬁﬁséaéi)

. « Gyrase / 36

.« Protease / O’

Question Number : 150 Question Id : 23366711174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a large-scale ecological pyramid representing the whole Earth as an ecosystem, the
position of humans 1s similar to
Q0G0 HrAD 28 DTYOCE &'J?SS.‘.)QTT" QAP0 bgﬁ—gﬂw DT(OCE DEES’, ATIH

.gﬁa‘)o & 208 T35 DO D &otod ?

Options :

.« Lions / Doben

, « Eagles / &rfen

3.3@ Frogs / SNew

, » Anchovis /e308 DD
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